Global Regents Prep – You Can Do	                                                                     Ms. Cohen

#281

HW – WHAT COULD BE MORE FUN THAN MORE MULTIPLE CHOICE QUESTIONS?!


_____  1. "...we shall fight for the things which have always been nearest our hearts, --for democracy, for the right of those who submit to authority to have a voice in their own governments, for the rights and liberties of small nations, for a universal domination of rights by such a concert of free peoples as shall bring peace and safety to all nations and make the world itself at last free...."
--President Woodrow Wilson

This statement by President Wilson is directly advocating the idea of
(1) disarmament 
(2) national self-determination 
(3) territorial readjustments 
(4) balance of power 


_____  2. 	"Archduke Franz Ferdinand Assassinated!" 
"Germany Declares War on Russia and France!" 
"Peace Treaty Signed at Versailles!"

Which event is referred to in these headlines?
(1) Franco-Prussian War 
(2) Crimean War 
(3) World War I 
(4) Cold War 


_____ 3. Italy, Korea, Spain, and India are similar in that each is considered
(1) an archipelago	(2) a peninsula        (3) a landlocked nation        (4) an island nation


_____ 4. Commodore Matthew Perry’s visit to Japan led directly to the
(1) decline of the Japanese economy	                                   
(2) movement toward modernization in Japan
(3) conversion of most of the Japanese people to Christianity      
(4) growth of Japanese feudalism


_____ 5. After the execution of Louis XVI, France became
(1) a republic			(3) a limited monarchy	
(2) an absolute monarchy.	(4) a direct democracy

_____ 6. Before the French Revolution, the people of France were divided into three estates based mainly on their
(1) education level	(2) social class	      (3) geographic region            (4) religious beliefs


_____  7. What was a major result of the Glorious Revolution?
(1) Napoleon was restored to power.			
(2) England further limited its monarchy.
(3) Oliver Cromwell became the leader of England	
(4) The Spanish Armada was defeated.


_____ 8. One way in which Simon Bolivar, Jomo Kenyatta, and Jose de San Martin are similar is that each leader
(1) sought independence from colonial rule		
(2) demanded human rights for all citizens
(3) ruled during a period of peace and prosperity	
(4) established a totalitarian government


_____ 9. Which statement best expresses the Western perspective regarding Rudyard Kipling’s “white man’s burden”?
(1) Europeans should preserve traditional cultures in Africa and Asia.
(2) Europeans must protect existing African and Asian economies.
(3) Europeans suffered great hardships in exploring new trade routes to Asia.
(4) Europeans had a duty to introduce the benefits of their civilization to non-European peoples.


_____ 10. The economic theory of laissez-faire capitalism proposes that
(1) command economies provide the greatest opportunity for growth	
(2) nobles should have strict control over business 
(3) the practices of mercantilism should be expanded			
(4) governments should not interfere with business


_____ 11. The heliocentric model, the development of inductive reasoning, and the work of Descartes are all associated with which revolution?
(1) Neolithic			 (3) Green
(2) Agricultural 		 (4) Scientific



. . . Finally, gather together all that we have said, so great and so august [important], about royal authority. You have seen a great nation united under one man: you have seen his sacred power, paternal and absolute: you have seen that secret reason which directs the body politic, enclosed in one head: you have seen the image of God in kings, and you will have the idea of majesty of kingship.  God is holiness itself, goodness itself, power itself, reason itself. In these things consists the divine majesty. In their reflection consists the majesty of the prince. . . .— Jacques-Benigne Bossuet

_____ 12. Which philosophy of government is expressed by this quotation?
(1) oligarchy 		(2) democracy		(3) fascism		(4) divine right


_____ 13. Which geographic factor in Russia played a role in Napoleon’s defeat in 1812?
(1) Siberian tundra	    (2) arid land          (3) Caspian Sea		(4) harsh climate


“…Men are born free and equal in rights.  Social distinctions may be founded only upon the general good….”		--Declaration of the Rights of Man and of the Citizen, 1789

_____ 14. Which principle of the Enlightenment philosophers is expressed in this quotation from the French Revolution?
(1) natural law		(2) free trade		     (3) nationalism		(4) socialism


_____ 15.Russian peasants supported the Bolsheviks in 1917 primarily because the Bolsheviks pledged to
(1) establish and maintain collective farms 		(3) limit the income of the nobility	
(2) redistribute land and make peace			(4) keep crop yields low


_____ 16.  One similarity between V. I. Lenin's New Economic Policy and Mikhail Gorbachev's policy of perestroika is that both policies
(1) supported collectivization of farms in the Soviet Union 	
(2) allowed some aspects of capitalism in the Soviet economy
(3) increased citizen participation in the Soviet Government
(4) strengthened governmental control over the Soviet Republics


_____ 17. The Treaty of Versailles punished Germany for its role in World War I by
(1) forcing Germany to accept blame for the war and to pay reparations  
(2) dividing Germany into four occupied zones  
(3) supporting economic sanctions by the United Nations  
(4) taking away German territory in the Balkans and Spain


_____ 18. The struggles for political independence in Latin America in the early 1800s were most directly influenced by 
(1) Berlin Conference				(3) doctrine of liberation theology
(2) American and French Revolutions	(4) writings of Count Camillo di Cavour


_____ 19. The action that led directly to the start of World War I in Europe was the
(1) assassination of Archduke Ferdinand	(3) bombing of Pearl Harbor
(2) sinking of the Lusitania			(4) invasion of Manchuria


_____ 20. During the 19th century, one effect of European imperialism on Africa was the 
(1)  exploitation of African natural resources by colonial powers
(2)  improvement of working conditions in Africa
(3)  African dependence on exportation of manufactured goods
(4)  African acceptance of the doctrine of the 'White Man's Burden'


_____ 21. In Russia, the events of Bloody Sunday, the heavy casualties during World War I, and the ineffective leadership of the czar led directly to the
(1) Revolution of 1917 			(3) signing of the Munich Pact
(2) institution of perestroika 			(4) creation of the Warsaw Pact


_____ 22. During the 19th century, one effect of European imperialism on Africa was the
(1) Exploitation of African natural resources by colonial powers
(2) Improvement of working conditions in Africa
(3) African dependence on exportation of manufactured goods
(4) African acceptance of the doctrine of the 'White Man's Burden'

_____ 23. The Triple Alliance and the Triple Entente contributed to the start of World War I by
(1) failing to include Germany and France as members 
(2) threatening countries in the Western Hemisphere 
(3) allowing Japanese aggression in Korea
(4) increasing tensions between European countries 

_____ 24.  One immediate result of the Industrial Revolution was
(1) an increase in the number of extended families	
(2) a decrease in international trade
(3) the elimination of child labor			
(4) a rapid increase in the growth of cities
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